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@® —6ax — 2bx = —6x(a + 2b)

@ ax®*+ay=a(x+y)

@ a(x+y)-b(x+y)=(x+y) —ab

@)-1 + 1692 = —4(x + 29)(x - 2)

® x(2a-b) +2y(2a - b) —z(2a - b) = (2a - b)(x - 2y) — z
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@® —2x(3a + b)

@ a(x* +y)

® (x+y)(a-b)

® (2a-b)(x+2y-2)
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2x% + 10xy + my?
®© x+y @ 2x+y ® 2x+2y
2x2 + 10xy + my* = (x + 3y)(2x + k)
= 2x% + (k + 6)y + 3ky?
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2x2 + 10xy + my? = (x + 3y)(2x + 4y) O]|B& T}2 gt Qlik
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x> —2x—8=(x+2)(x-4)

4x% +5x -6 = (4x - 3)(x + 2)
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D a=9,b=16, c= -4 @ a=9,b=8,c=14
®a=9,b=16, c=2 @a:g,b:16,c:4

® a=3,b=-8 c=4
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(3x +¢)? = 9x% + 6cx + 2

a=9
6c=24, c=4
b=¢c2, b=16

La=9 b=16, c=14
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Vi=a-19 FHE AFA x = (a-1)2
Va? +2a+1+ Va2 -6a+9

= /(a+1)>+ /(a-3)?
—la+1l+a—3|

=a+l-a+3=14
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® 5cm @ 20cm @ 40cm @ 60cm @ 80cm

4(a+b) =80°1EE a+b =20
a’ - b? = 100°]122 (a + b)(a - b) = 100
a-b=5

S 4(a-b)=4x5=20
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@® 4x? +12x+9 = (2x + 3)?

@ Loy +1—(1 +1)2
4x X = 2x

@ g= (r3)
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@ 3x24+6x+3=3(x+1)2

® x%+10x+25= (x+5)?

@xz—x—i—l: (x—1>2
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